

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Carmenita Rd and Imperial Hwy Intersection Improvements (MM5509_04)

Project ID: RDC0016504

Rids Opened: 10/8/2024

Bids Opened: 10/8/2024 Project Manager: Sonia Alvarez n/a

Addenda: 0 Duration: 0 Day(s)

			Engineer's Estimate		(1) Elecnor Belco Electric, Inc.		(2) Select Electric, Inc.		(3) Servitek Electric, Inc.				
(1) Pre	eliminary Bid Amount						\$746,593.00		\$887,958.00	\$	1,259,258.00		
(2) Uni	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00		
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	2		MTH	\$1,000.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00		
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00		
4	CITY PERMIT AND INSPECTION FEES (ALLOWANCE OF \$10,000)	10000	\$1.00	AL	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00		
5	EXPLORATORY EXCAVATION OF UTILITIES (ALLOWANCE OF \$50,000)	50000	\$1.00	AL	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00		
6	MOBILIZATION	1	\$170,000.00	LS	\$170,000.00	\$101,000.00	\$101,000.00	\$7,672.00	\$7,672.00	\$39,735.00	\$39,735.00		
7	IMPLEMENTATION OF BMPS	1	\$20,000.00	LS	\$20,000.00	\$1,500.00	\$1,500.00	\$2,790.00	\$2,790.00	\$10,500.00	\$10,500.00		
8	CONCRETE REMOVAL (NON- REINFORCED)	4	\$720.00	CY	\$2,880.00	\$979.00	\$3,916.00	\$697.00	\$2,788.00	\$560.00	\$2,240.00		
9	UNCLASSIFIED EXCAVATION	5	\$865.00	CY	\$4,325.00	\$769.00	\$3,845.00	\$139.00	\$695.00	\$7,000.00	\$35,000.00		_
10	CRUSHED MISCELLANEOUS BASE	4	\$690.00	CY	\$2,760.00	\$740.00	\$2,960.00	\$70.00	\$280.00	\$2,800.00	\$11,200.00		
11	TRENCH BACKFILL SLURRY (CLASS 270-E-500)	1	\$855.00	CY	\$855.00	\$1,093.00	\$1,093.00	\$13,967.00	\$13,967.00	\$2,800.00	\$2,800.00		
12	AC PAVEMENT	1	\$720.00	TON	\$720.00	\$4,780.00	\$4,780.00	\$6,277.00	\$6,277.00	\$9,800.00	\$9,800.00		

Project ID: RDC0016504 Bids Opened: 10/8/2024 Project Manager: Sonia Alvarez n/a

Addenda: 0 **Duration: 0 Day(s)**

				Engine	eer's Estimate	(1) Elecnor Belco Electric, Inc.		(2) Select	(2) Select Electric, Inc.		(3) Servitek Electric, Inc.		
(1) Pre	liminary Bid Amount						\$746,593.00		\$887,958.00	\$	1,259,258.00		
(2) Uni	t Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
13	PCC CURB & GUTTER, TYPE	21	\$150.00	LF	\$3,150.00	\$262.00	\$5,502.00	\$209.00	\$4,389.00	\$280.00	\$5,880.00		
	A2-VAR												
14	PCC WALK, 4" THICK	175	\$35.00	SF	\$6,125.00	\$34.20	\$5,985.00	\$244.00	\$42,700.00	\$105.00	\$18,375.00		
15	DETECTABLE WARNING	15	\$60.00	SF	\$900.00	\$47.00	\$705.00	\$133.00	\$1,995.00	\$140.00	\$2,100.00		
	SURFACE												
16	1" CONDUIT (SCH 80 PVC)	5	\$95.00	LF	\$475.00	\$88.00	\$440.00	\$110.00	\$550.00	\$66.00	\$330.00		
17	2" CONDUIT (SCH 80 PVC)	7	\$55.00	LF	\$385.00	\$90.00	\$630.00	\$139.00	\$973.00	\$62.00	\$434.00		
18	3" CONDUIT (SCH 80 PVC)	460	\$70.00	LF	\$32,200.00	\$200.00	\$92,000.00	\$206.00	\$94,760.00	\$70.00	\$32,200.00		
19	4" CONDUIT (SCH 80 PVC)	14	\$130.00	LF	\$1,820.00	\$102.00	\$1,428.00	\$243.00	\$3,402.00	\$65.00	\$910.00		
20	3-CONDUCTOR SIGNAL CABLE	895	\$7.00	LF	\$6,265.00	\$4.00	\$3,580.00	\$2.00	\$1,790.00	\$6.00	\$5,370.00		_
	(EXCLUDING CONDUIT)												
21	5-CONDUCTOR SIGNAL CABLE	400	\$10.00	LF	\$4,000.00	\$5.00	\$2,000.00	\$3.00	\$1,200.00	\$6.00	\$2,400.00		
	(EXCLUDING CONDUIT)												
22	12-CONDUCTOR SIGNAL	1920	\$12.00	LF	\$23,040.00	\$7.40	\$14,208.00	\$4.00	\$7,680.00	\$8.00	\$15,360.00		
	CABLE(EXCLUDING CONDUIT)												
23	WIRE #6	240	\$4.00	LF	\$960.00	\$3.30	\$792.00	\$4.00	\$960.00	\$7.00	\$1,680.00		
24	WIRE #10	2480	\$6.00	LF	\$14,880.00	\$2.10	\$5,208.00	\$1.00	\$2,480.00	\$6.00	\$14,880.00		
25	COMPOSITE TYPE 3 PULL BOX	8	\$1,945.00	EA	\$15,560.00	\$2,587.00	\$20,696.00	\$3,500.00	\$28,000.00	\$3,229.00	\$25,832.00		
	INCL COVER				** ** **			****					
26	REMOVE PULL BOX	7	\$550.00	EA	\$3,850.00	\$400.00	\$2,800.00	\$345.00	\$2,415.00	\$1,950.00	\$13,650.00		
27	REMOVE PULL BOX AND	7	\$1,550.00	EA	\$10,850.00	\$1,100.00	\$7,700.00	\$3,531.00	\$24,717.00	\$9,900.00	\$69,300.00		
	RESURFACE SIDEWALK		4040.00		***	A- 1-00	AT 000 00		445.500.00	*****	440.000.00		
28	CAMERA MOUNT EXTENSION	8	\$810.00	EA	\$6,480.00	\$745.00	\$5,960.00	\$1,945.00	\$15,560.00	\$1,350.00	\$10,800.00		
29	RELOCATE CAMERA (VIDEO	8	\$4,005.00	EA	\$32,040.00	\$830.00	\$6,640.00	\$1,362.00	\$10,896.00	\$1,950.00	\$15,600.00		
	DETECTION)		***		\$40.500.00	#704.00	#0.050.00	#4 500 00	# 40,000,00	\$7.050.00	#50.400.00		
30	RECONFIG VIDEO DETECTION	8	\$2,445.00	EA	\$19,560.00	\$794.00	\$6,352.00	\$1,500.00	\$12,000.00	\$7,050.00	\$56,400.00		
- 0.4	ZONE - 1 CAMERA		#0.04F.00		#0.04F.00	#4.500.00	#4.500.00	ф 77 0 00	#770.00	ΦΩ 7 ΕΩ ΩΩ	#0.7F0.00		
31	REMOVE TYPE 15 STANDARD	1	\$2,015.00	EA	\$2,015.00	\$1,500.00	\$1,500.00	\$770.00	\$770.00	\$9,750.00	\$9,750.00		
- 00	(COMPLETE) (EXCL. FOUND.)	4	¢2.075.00		¢11 500 00	¢2,000,00	000.00	¢2 562 00	¢10 249 00	¢0.750.00	¢30,000,00		
32	REMOVE TYPE 26 STANDARD	4	\$2,875.00	EA	\$11,500.00	\$2,000.00	\$8,000.00	\$2,562.00	\$10,248.00	\$9,750.00	\$39,000.00		
20	(COMPLETE) (EXCL. FOUND.)		\$2,160.00	ΕΛ	\$2,160.00	\$2,000.00	\$2,000.00	\$2,441.00	\$2,441.00	\$13,050.00	\$13,050.00		
33	REMOVE TYPE 15	1	φ2,100.00	EA	φ2,100.00	φ∠,υυυ.υυ	φ∠,000.00	φ∠, 44 1.00	φ∠, 44 1.00	φ 13,030.00	φ13,050.00		
	FOUNDATION												

Project ID: RDC0016504 Bids Opened: 10/8/2024 Project Manager: Sonia Alvarez n/a

Addenda: 0 **Duration: 0 Day(s)**

				Engine	eer's Estimate	(1) Elecnor Belco Electric, Inc.		(2) Select Electric, Inc.		(3) Servitek Electric, Inc.			
(1) Pre	eliminary Bid Amount						\$746,593.00	\$887,958.00		\$1,259,258.00			
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	Qty	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
34	REMOVE TYPE 26	4	\$4,025.00	EA	\$16,100.00	\$2,000.00	\$8,000.00	\$4,232.00	\$16,928.00	\$15,300.00	\$61,200.00		
	FOUNDATION												
35	TYPE 15 STANDARD	1	\$9,075.00	EA	\$9,075.00	\$5,800.00	\$5,800.00	\$4,522.00	\$4,522.00	\$21,150.00	\$21,150.00		
36	TYPE 29 STANDARD	4	\$34,290.00	EA	\$137,160.00	\$25,245.00	\$100,980.00	\$29,247.00	\$116,988.00	\$36,150.00	\$144,600.00		
37	TYPE 15 STANDARD	1	\$3,020.00	EA	\$3,020.00	\$3,448.00	\$3,448.00	\$4,597.00	\$4,597.00	\$12,900.00	\$12,900.00		
	FOUNDATION												
38	TYPE 29 STANDARD	4	\$7,765.00	EA	\$31,060.00	\$7,814.00	\$31,256.00	\$8,630.00	\$34,520.00	\$14,400.00	\$57,600.00		
	FOUNDATION												
39	40' SIGNAL MAST ARM	3	\$10,715.00	EA	\$32,145.00	\$6,924.00	\$20,772.00	\$9,390.00	\$28,170.00	\$4,350.00	\$13,050.00		
40	45' SIGNAL MAST ARM	1	\$12,795.00	EA	\$12,795.00	\$7,056.00	\$7,056.00	\$9,542.00	\$9,542.00	\$4,725.00	\$4,725.00		
41	8' LUMINAIRE MAST ARM	1	\$2,835.00	EA	\$2,835.00	\$1,574.00	\$1,574.00	\$2,932.00	\$2,932.00	\$4,350.00	\$4,350.00		_
42	12' LUMINAIRE MAST ARM	3	\$3,605.00	EA	\$10,815.00	\$1,706.00	\$5,118.00	\$3,085.00	\$9,255.00	\$4,350.00	\$13,050.00		_
43	12' HORIZONTAL LUMINAIRE	1	\$3,605.00	EA	\$3,605.00	\$1,706.00	\$1,706.00	\$3,085.00	\$3,085.00	\$6,600.00	\$6,600.00		_
	MAST ARM												
44	RELOCATE LUMINAIRE	5	\$130.00	EA	\$650.00	\$500.00	\$2,500.00	\$325.00	\$1,625.00	\$3,450.00	\$17,250.00		
45	REMOVE VEHICLE HEAD	2	\$365.00	EA	\$730.00	\$150.00	\$300.00	\$144.00	\$288.00	\$2,850.00	\$5,700.00		_
	(COMPLETE)												
46	RELOCATE VEHICLE HEAD	2	\$1,085.00	EA	\$2,170.00	\$300.00	\$600.00	\$451.00	\$902.00	\$2,850.00	\$5,700.00		
	(COMPLETE)												
47	3-12" LED VEHICLE HEAD	14	\$1,540.00	EA	\$21,560.00	\$1,348.00	\$18,872.00	\$1,264.00	\$17,696.00	\$1,841.00	\$25,774.00		
	(COMPLETE)												
48	5-12" LED VEHICLE HEAD	2	\$2,125.00	EA	\$4,250.00	\$1,723.00	\$3,446.00	\$1,696.00	\$3,392.00	\$2,283.00	\$4,566.00		
	(COMPLETE)										*****		
49	LED COUNTDOWN	4	\$1,425.00	EA	\$5,700.00	\$1,322.00	\$5,288.00	\$1,071.00	\$4,284.00	\$1,703.00	\$6,812.00		
	PEDESTRIAN HEAD												
	(COMPLETE)		* 4.005.00		#4.005.00	***	4000.00	****	# 000 00	* 4.050.00	# 4.050.00		
50	RELOCATE PEDESTRIAN	1	\$1,085.00	EA	\$1,085.00	\$300.00	\$300.00	\$289.00	\$289.00	\$1,950.00	\$1,950.00		
	HEAD (COMPLETE)		***		# 40,000,00	#0.070.00	*	00.704.00	* * * * * * * * * *	40.400.00	# 0.000.00		
51	8' STRAIGHT ARM CLAMP-ON	4	\$3,255.00	EA	\$13,020.00	\$2,978.00	\$11,912.00	\$3,781.00	\$15,124.00	\$2,400.00	\$9,600.00		
	FOR STREET NAME SIGN		#0.005.00		Ф0.000.00	M4 444 00	#4.570.00	#4 000 00	#0.004.00	#4.000.00	# 7 000 00		
52	DOUBLE FACE	4	\$2,225.00	EA	\$8,900.00	\$1,144.00	\$4,576.00	\$1,666.00	\$6,664.00	\$1,800.00	\$7,200.00		
	RETROREFLECTIVE STREET												
	NAME SIGN												,

Project ID: RDC0016504 Bids Opened: 10/8/2024 Project Manager: Sonia Alvarez n/a

Addenda: 0 **Duration: 0 Day(s)**

				Engine	er's Estimate	(1) Elecnor Belco Electric, Inc.		(2) Select Electric, Inc.		(3) Servitek Electric, Inc.			
(1) Pre	eliminary Bid Amount						\$746,593.00		\$887,958.00	\$	1,259,258.00		
	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	Qty	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
53	PEDESTRIAN PUSH BUTTON	2	\$1,895.00	EA	\$3,790.00	\$1,152.00	\$2,304.00	\$792.00	\$1,584.00	\$7,950.00	\$15,900.00		
	POST												
54	PEDESTRIAN PUSH BUTTON	2	\$1,285.00	EA	\$2,570.00	\$1,500.00	\$3,000.00	\$2,384.00	\$4,768.00	\$4,950.00	\$9,900.00		
	POST FOUNDATION												
55	REMOVE PEDESTRIAN PUSH	4	\$240.00	EA	\$960.00	\$100.00	\$400.00	\$144.00	\$576.00	\$1,350.00	\$5,400.00		
	BUTTON												
56	PEDESTRIAN PUSH BUTTON	8	\$150.00	EA	\$1,200.00	\$125.00	\$1,000.00	\$328.00	\$2,624.00	\$630.00	\$5,040.00		
	PLATE		44.000.00		****	44 =00.00	440 =04.00	******	*	*	A15 101 00		
57	APS PPB WITH SPECIAL VOICE	8	\$1,990.00	EA	\$15,920.00	\$1,723.00	\$13,784.00	\$1,423.00	\$11,384.00	\$1,898.00	\$15,184.00		
	MESSAGE		\$10,465.00		\$10,465.00	\$5,744.00	\$5,744.00	\$10,883.00	\$10,883.00	\$8,925.00	\$8,925.00		
58	CENTRAL CONTROLLER UNIT	1	\$10,465.00	EA	\$10,465.00	φ5,744.00	\$5,744.00	φ10,003.00	φ10,003.00	Ф0,925.00	φο,925.00		
59	APS REMOVE CONTROLLER	1	\$2,665.00	EA	\$2,665.00	\$1,500.00	\$1,500.00	\$4,450.00	\$4,450.00	\$10,200.00	\$10,200.00		
59	FOUNDATION	1	Ψ2,000.00	EA	Ψ2,000.00	Ψ1,300.00	ψ1,300.00	ψ+,+50.00	ψ+,+50.00	ψ10,200.00	Ψ10,200.00		
60	TYPE 332 CABINET	1	\$2,875.00	EA	\$2,875.00	\$2,500.00	\$2,500.00	\$5,060.00	\$5,060.00	\$13,200.00	\$13,200.00		
00	FOUNDATION	•	 ,		7-,01010	 ,	 ,	70,000	7-,	, , , , , , , , , , , , , , , , , , ,	***,=*****		
61	RELOCATE TYPE 332 CABINET	1	\$5,395.00	EA	\$5,395.00	\$5,215.00	\$5,215.00	\$1,627.00	\$1,627.00	\$9,750.00	\$9,750.00		
	(COMPLETE)												
62	REMOVE CONTROLLER	1	\$300.00	EA	\$300.00	\$250.00	\$250.00	\$1,109.00	\$1,109.00	\$13,200.00	\$13,200.00		
63	TYPE 2070 CONTROLLER	1	\$7,910.00	EA	\$7,910.00	\$8,580.00	\$8,580.00	\$14,593.00	\$14,593.00	\$29,100.00	\$29,100.00		
64	REMOVE ILD SENSOR UNIT	10	\$130.00	EA	\$1,300.00	\$50.00	\$500.00	\$577.00	\$5,770.00	\$4,950.00	\$49,500.00		
65	CONFLICT MONITOR	1	\$1,650.00	EA	\$1,650.00	\$2,638.00	\$2,638.00	\$4,739.00	\$4,739.00	\$7,950.00	\$7,950.00		
66	REMOVE GPS UTB UNIT &	1	\$135.00	EA	\$135.00	\$400.00	\$400.00	\$577.00	\$577.00	\$1,950.00	\$1,950.00		
	ANTENNA												
67	RELOCATE WIRELESS RADIO	2	\$795.00	EA	\$1,590.00	\$800.00	\$1,600.00	\$1,324.00	\$2,648.00	\$1,950.00	\$3,900.00		
	ANTENNA												
68	RELOCATE EV PREEMPTION	4	\$2,000.00	EA	\$8,000.00	\$1,038.00	\$4,152.00	\$2,006.00	\$8,024.00	\$1,950.00	\$7,800.00		
	UNIT		#0 F00 00		#0.500.00	#0.500.00	#0.500.00	#4 000 00	#4.000.00	#4F 000 00	#4F 000 00		
69	RELOCATE CCTV CAMERA	1	\$3,500.00	EA	\$3,500.00	\$2,500.00	\$2,500.00	\$1,362.00	\$1,362.00	\$15,300.00	\$15,300.00		
70	UPGRADE FIBER OPTIC	1	\$3,500.00	EA	\$3,500.00	\$7,000.00	\$7,000.00	\$11,966.00	\$11,966.00	\$12,450.00	\$12,450.00		
74	SWITCH 12" STRIPING	180	\$6.00	LF	\$1,080.00	\$3.05	\$549.00	\$6.00	\$1,080.00	\$7.00	\$1,260.00		
71		180	φ0.00	LF	φ1,000.00	φ3.03	φ549.00	φυ.υυ	φ1,000.00	φ1.00	φ1,200.00		
	(THERMOPLASTIC)												

Project ID: RDC0016504 Bids Opened: 10/8/2024

Bids Opened: 10/8/2024 Project Manager: Sonia Alvarez n/a

Addenda: 0 Duration: 0 Day(s)

				Engineer's Estimate		(1) Elecnor Belco Electric, Inc.		(2) Select Electric, Inc.		(3) Servitek Electric, Inc.			
(1) Pre	liminary Bid Amount						\$746,593.00		\$887,958.00		\$1,259,258.00		
(2) Un	t Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
72	24" STRIPING (THERMOPLASTIC)	1170	\$11.00	LF	\$12,870.00	\$6.10	\$7,137.00	\$13.00	\$15,210.00	\$13.00	\$15,210.00		
73	PAVEMENT MARKINGS	45	\$12.00	SF	\$540.00	\$8.00	\$360.00	\$12.00	\$540.00	\$13.00	\$585.00		
	(THERMOPLASTIC)												
74	REMOVE STRIPING	840	\$8.00	LF	\$6,720.00	\$7.20	\$6,048.00	\$14.00	\$11,760.00	\$14.00	\$11,760.00		
75	REMOVE PAVEMENT	45	\$15.00	SF	\$675.00	\$7.20	\$324.00	\$14.00	\$630.00	\$14.00	\$630.00		
	MARKINGS (THERMOPLASTIC)												
76	CURB MARKINGS (ONE-COAT	30	\$2.00	LF	\$60.00	\$29.00	\$870.00	\$17.00	\$510.00	\$18.00	\$540.00		
	PAINT)												
77	SIGN PANEL	9	\$390.00	EA	\$3,510.00	\$211.00	\$1,899.00	\$258.00	\$2,322.00	\$259.00	\$2,331.00		
78	REMOVE SIGN	1	\$150.00	EA	\$150.00	\$29.00	\$29.00	\$35.00	\$35.00	\$35.00	\$35.00		
79	RELOCATE SIGN	1	\$225.00	EA	\$225.00	\$86.00	\$86.00	\$105.00	\$105.00	\$105.00	\$105.00		
80	TRAFFIC CONTROL	1	\$97,000.00	LS	\$97,000.00	\$33,600.00	\$33,600.00	\$55,796.00	\$55,796.00	\$20,250.00	\$20,250.00		
81	SALVAGE EQUIPMENT	1	\$1,000.00	LS	\$1,000.00	\$14,000.00	\$14,000.00	\$25,000.00	\$25,000.00	\$11,250.00	\$11,250.00		
82	FLASHING ARROW SIGN	2	\$2,000.00	EA	\$4,000.00	\$1,000.00	\$2,000.00	\$7,264.00	\$14,528.00	\$1,050.00	\$2,100.00		
83	CHANGEABLE MESSAGE SIGN	2	\$3,000.00	EA	\$6,000.00	\$2,700.00	\$5,400.00	\$8,500.00	\$17,000.00	\$2,850.00	\$5,700.00		
Unit P	rice Total				\$988,485.00		\$746,593.00		\$887,958.00		\$1,259,258.00		
(3) LSBE/DVBE/SE Preference Amount					\$0.00		\$0.00		\$52,261.51				
(4) LSBE/DVBE/SE Adjusted Amount						\$746,593.00		\$887,958.00		\$1,206,996.49			
Comments					APPARENT I	LOW BIDDER							